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41/200/000 800/000 800/000 42/000/000 - 10/000/000 * 3 1
10 12
38/000/000 4/000/000 3/200/000 42/000/000 - 10/000/000 2
10
39/900/000 2/100/000 2/100/000 ( 42/000/000 - 0 )* 20% ¥ 3 1
12
31/920/000 10/080/000 7/980/000 (42/000/000 - 2/100/000 ) *20% 2
25/536/000 16/464/000 6/384/000 (42/000/000 - 10/080/000 )* 20% 3
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(s clela) SMghul Ay = 140/000/000 - 20/000/000 *  4/000 = 3/750/000

128/000
(35 Qo) SVl Ay jp = 140 000/000 — 20/000/000 *  5/000 = 7/500/000
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4 32/400/000 7/600/000 7/600/000 (40/000/000 -2/000/000) * 4 * 6 1
10 12
21/000/000 19/000/000 11/400/000 (40/000/000 — 2/000/000) *3 2
10
13/400/000 26/600/000 7/600/000 (40/000/000 — 2/000/000) *2 3
10
9 600/000 30/400/000 3/800/000 (40/000/000 — 2/000/000) * 1 4
10
2/000/000 38/000/000 7/600/000 (40/000/000- 2/000/000) * 4 *6 5
10 12




